IR

b A

7

&0

500

400

A

200

10

&0

500

4

e 1A

200

&0

500

400

A

200

Run 5371 quartetwise, PosHelAccl/NSamplas0

=== Laser O -—

Entrie=: 17142
Mean: 16,3726 &/- 0UODS3
Siad Dhey- 0U6S59 - D.00ED

=== Lager OFF ---
Entrie=: 12667
Mean: 14979 «- 00017
Sid Dhey: 01953 - 000072

Run 5371 quartetwize, Diffs)

=== Laser O -—
Entries: 17142
Mean: 08430 «- 0.0035
Sid Dey: 04564 - 00025

=== Laser OFF ---
Entries: 12667
Mean: -0.0011 «/- 0u0d21
Sid Drey: 02418 -~ 00015

Run 5371 quartetwise, Asyms(

4

=== Laser ON -—
Entries: 17142
Mean: 31.3330 «/- 012956
Sid Dev: 169613 4/~ L0915

=== Laser OFF ---
Enlries: 12657
Mean: -0.0430 «- 0LOTAS
Sid Dhey: B9800 +~ 00565

20 a 20 4 &l

a0a

&0

T

&0

500

40

A

2040

100

1001

&0

&0

400

200

Run 5371 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-

Entrie=: 17142
Mean: 14.5296 /- 000050
Sid Dhev: 0UGS82 &b 0.0DYE

=== Lager OFF ---
Entries: 12657
Mean: 14990 «/- 0.0018
Sid Dev: 01972 - 00072

1 1 1 I 1 1 1 I 1 1 1 I 1 1 J 1 \ 1
& ] 0 12 14 16

Run 5371 quartetwize, Sums0

=== Laser O -—-

Entries: 17142
Mean: 29,9022 & 00097
Sid Dev: 1. 2765 «- 0009

== Laser OFF ---
Entries: 12657
Mean: 29968 +- 0.0027
Sid Dhev: 03092 - 00079




a0

801

T

&0

500

4

A

200

10

&0

500

400

A

200

&0

500

400

e 1A

200

Run 5371 quartetwise, PosHalAccd

— Lasar O —

trlne: 17142
Main: S48 IE2E AT +- 1EIS1. 1R
Sad Dwre: 200021 JEED &0 173457591

— Lassar OFF —
Enlnia: T2EST
Main: THESETT 3100 =0 2748.71T1
g Dre: 24714078384 &= 151 T.E5ET

Run 5371 quartetwise, Diifs4

— Lasar O —
tnlnea: 17142
Maan: 28800070814 =L LTI
S (O VIET TS 0100 -0 GRS V40T

— L OFF —
cnlni: T2
Miaan: 1461 062 « - 3NTLETED
0d Dwre: TINE BAE2 +- ZAEIIE

Run 5371 quartetwise, Asymsd

SO0

=== Laser ON -—
Entries: 17142
Mean: 310152 «/- 01166
Sid Dev: 16.2719 4/~ LDE2E

=== Laser OFF ---
Enlries: 12657
Mean: -0.0177 «/- 0LOIEE
Sid Dey: 41195 - 002589

a0a

&0

N

&0

500

400

el KA

200

100

a0a

A0

T

&0

500

400

A

200

100

Run 5371 quartetwize, NegHalAcc4

— Ly 0% —

trlnes: 17142

Magn: 4TERELBE2T & 12082 W13
25 Dwr: TITATES ART] &0 TRERSI24E

— Lussar OFF —
trlnea: 1IEYT
Main: 1457448 5702 - 21E 5800
Sd (Dire: 244005 ONES +- THIEEXD

11 =10

Run 5371 quartetwise, Sums4

— Ly 0% —
trlnea: 17141
Main: BHE4ETL 56 - INFRE EIXY
0 Dwre: JETEITI 212 &b 2EHLAETS

— Lumar OFF —
crlnea: TIET
Maan: 2 4E0 000 == JNELTEFA
S0 [Dnire: HES0E T3 +- TR TS

PRI TR R




3000

2800

2000

1500

1000

500

1000

800

&0

400

20

2500

2000

1800

1000

500

Run 5371 quartetwize, Asyms USbgl

Al

il

=== Laser O -—

Entrie=: 17142
Mean: -0.0044 < QLODIE
Sid Dhey: 0LAT7IZ o D.O0D2E

=== Lager OFF ---
Entrie=: 12667
Mean: 00093 +- 0.0042
Sid Dey: 0LA7TE &~ D.00%D

. Hnnﬂﬂ_ﬁﬂn

Run 5371 quartetwize, Asyms DSbg1

!

=== Laser O -—
Entries: 17142
Mean: 00070+~ 0.0011
Sid Dhey: 001399 4~ 00008

=== Laser OFF ---
Entries: 12667
Mean: -0.0004 - 00012
Sid Drey: 001389 - 00009

Run 5371 quartetwise, Asyms Horiz Finger

=== Laser ON -—
Entries: 17142
Mean: 00149 +- 0.0027
Sid Dhey: 03599 - 00078

=== Laser OFF ---
Enlries: 12657
Mean: -0.0001 < 0LO004TF
Sid Dey: 0.5336 +~ 00034

bl

ﬂ.5rD|:|_n_HE_h_ I i I

2001
18O
100
14010
1300
100
A0
&0
400
200

a0a

&0

BN

&0

500

40

A

200

10a

1RO

100

1401

1300

1000

&0

&0

40

200

Run 5371 quartetwize, Asyms UShg2

=== Laser O -—-
Entrie=: 17142
Mean: 0U000F «/- Q.00 24
Sid Dev: 0156 & 00007

=== Lager OFF ---
Entries: 12657
Mean: -0.0022 «- DO02E
Sid Dev: 0165 «- 00020

1

: ..u—-n_nf"ll-lqﬂ :

B

Mfﬁﬁﬁﬂﬁﬂnﬁ L F1I L

Run 5371 quartetwise, Asyms DSbg2

=== Laser O -—-
Entries: 17142
Mean: 0U002T «- 0.0010
Sid Dev: 01283 - 00007

== Laser OFF ---
Entries: 12657
Mean: 00008 +- 0.0011
Sid Deyv: 01273 - 00000

Run 5371 quartetwize, Asyms Vert Finger

1.5

0.5

=== Laser O -—-
Entries: 17142
Mean: 00097 +/- Q.00
Sbd Dwev: 0.2661 «- 0.00714

== Laser OFF ---
Entries: 12657
Mean: L0045 +- 0.0032
Sid Dev: 03565 - 0.0022




posHD

dilid

asymilsu

1B

14

12

0

Run 5371 quartetwize, posHE vs time

_llllllllllllllII|III|III|III|III|III

"

jaac]

2.5

1.5

0.5

0.5

1040

130

Run 5371 quartetwize, diffl ve time

1El:|

jaac]

&y

&l

40

20

20

4

lllllllllllllllI|III|III|III|

neg 4l

sammid

Bem

168

14

12

i

Run 5371 guartetwize, negHO vs time

_|III|III|III|III|III|III|III|III|I

F.F

"

=

an

25

20

18

i

1
100 130

140

Run 5371 guartetwize, summi vs time

180

lllII|IIII|IIII|IIII|IIII|IIII|III

i

=

140

130

10a

b TH

ik

4

20

Run 5371 quartetwise, posH4 vs time

oy ]

-y

L ol

=




dili4

pbskd

asymEsu

L4

Run 5371 quartetwize, posH4 vs time

= 1)
50 f— "I
e ” |l F'IA'iFi
an —
an —
10—
o Lo | | e P PN L R 1L L L L P LN I B Ty
a 20 a0 &0 a0 00 120 140 160 T80 200 220
Entry%
_ Run 5371 gquaretwiza, diff4 vs time
=10
EOOL — an Col
| £}
4000 —
2000 —
i —
: .{ﬂ :l'_-
2':‘:"} —— I I I 1 1 1 I 1 1 1 I 1 1 L I 1 1 L I 1 L L I.-I. 1 1 I 1 L I 1 1 :':1':".
i 20 a0 &0 a0 100 120 140 160 TR0 200 220
Entry§
Run 5371 quartetwise, asymdsub vs time
&0 — :
|- o g
[ Sn A
— ¥ H
&0 — R
40 —
20 —
a— :
= e
= : .
20— - 3
— | I I I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I i 1 1 I 1 1 I 1 1 :':1':'
a 20 40 &0 an 100 120 140 160 180 200 220
Entry§

rieg 4

surrmd

Bem

[
-
I?lr\-

Run 5371 guartetwize, negH4 vs time

45

40

i

an

25

20

18

10

U

=
=

=
—
I?lr\-

20 afr & Hiy

1 '|.n |Il' |.‘ 1 1 1
100 120 T40

Run 5371 guartetwize, summdd vs time

|I'IF.|.I 1
180

1B0

ak

Hir

hH

&l

=1H

4

an

20

e

=]

i

I.I.‘ lII' I.q L L L I.I L

NILIIYR

=

100 130 140 180

Run 5371 quartetwise, posH4 vs time

1BQ

140

130

10a

b TH

ik

4

20

oy ] I

L ol

=
=



Sty

DEhgT

werlFng

Run 5371 guartetwize, USbgl ve time Run 5371 gquartetwize, USbg2 ve time

500 [~ E’ =
— & ana—
— . .. e, To0 — L o A
400 — _ . _ o E - e —_—
— -~ B ) soa - T T - o
a0 — — - = - — 500 = — - = e —
— o - ano — - = -
apg — — - — - _— — - - = _ -
L S - — - . apn = —_— - = — I
- — - = - — = = - = -
1[:‘:'_ R —_ J— — —_—— — R - —_— — —_——
— - - - . 100 E— — - = -
|:| _I 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 L I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 :':1':" |:| :I 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I I-II 1 I 1 1 1 I I- 1 1 I.I T

]
£
3
=
s
g
B
B
B
E
-]
=]
-]
&
=
s
=
=
=
g
B
E
B

2500

DEhg2

00

2000

P
i

2800

1500 2001

15010

i

ST T e

1000

100

500
500

n
whl
HH
3
=
=L

=
| I
s
HIL

=]

fiae]
£
$
2
=
g
B
3
B
E
[5-]
=]
-]
&
=]
z
=
=
=
g
B
3
B

Run 5371 gquaretwizse, variFing vs timea Run 5371 quanetwizse, horizFing vs tima

o0 — £ [
— H 1o —
— - 5 |
&0 — - = — ;
— -- - - - - a6 — ook Sl
500 — - - R — =2
40 |— - . C - N 800 — - - =
apa — — - = - — [ — - =
— — - - — 400 |— = = =
200 — - - - - - - 1z =
= — I S — 200 — — - =
100 — —_ - = — i - o= .z ==
l:l _I 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 -I_-I I_I I_.-I 1 1 1 I_I_ 1 I--_I__I 1 I 1 1 1 I 1 1 1 :':1':" l:l _I 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 .I 1 I-I 1 I 1 1 1
a 20 T3 Bir Al 100 120 140 TE0 T80 200 280 a 7 a0 &l Al i) 120



